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INVERSE OF A MATRIX

A square matrix A said to be invertible if and only if it is non-singular (i.e. |A|# 0) and there exists a matrix B

such that, AB =1 = BA.

B is called the inverse (reciprocal) of A and is denoted by A . Thus

A'=BoAB =1=BA

Al A (adjA) = ATL A
[ (adjA) = A [A] L
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PROPERTIES OF INVERSE.: (AD > A

~Pheorem-1 : Every invertible matrix possesses a unique inverse.
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Fhicorem-2 : If A is an invertible square matrix, then A" is also invertible and
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JThevtrem-3 : If A is a non-singular matrix, then prove that | Al —LE (o)
« 1 A 1 . Y
A=A ie. [|a l—w
(_Dh/urem 4 : If A & B are invertible matrices of the same order , then ‘1 =B leA]
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@ If Aisa symmetric matrix and Bis a skew-symmetric

2 3
matrix such that A + B = {r 1} then ABis equal to — A = A‘T
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Let A= |uusu —smti} o = R) such that
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Let E=|3 1 O|and @ = [r:;r-J,-] be two 3 x 3 matrices
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such that @ — P” = I;. Then, {21 T 43
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If AA" =1, then| p|is
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